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Multiply the expressions. 

 

1) ܽଶ × ܽ଻ = _______________ 

 

 

 

 

 

 

 

ସݔ3 (2 × ଷݔ2 = _______________ 

 

 

 

 

 

 

 

 

ଷݔ3 (3 × ସݔ × ହݔ = _______________ 

 

 

 

 

 

 

 

 

4) (−3)ସ × (−3)ହ = _______________ 

 

 

 

 

 

 

 

 

ଵଷݕ (5 ×  __________ = ଵଵݕ

 

 

 

 

 

 

 

 

 

 

6) (2ଷ)4 
= __________ 

 

 

 

 

 

 

 

7) (ܽହ)4 
= __________ 

 

 

 

 

 

 

 

 

8) (3ܾ)5 
= __________ 

 

 

 

 

 

 

 

 

9) (5ܿ)3 
= __________ 
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Multiply the polynomials. 

 

ݔ4) (10 − ݔ3)(3 + 6) =  _______________ 

 

 

 

 

 

 

 

11) (5ܽ + 2ܾ)(5ܽ − 2ܾ) =  _______________ 

 

 

 

 

 

 

 

 

ݔ) (12 + ݔ2)(3 − 5) =  _______________ 

 

 

 

 

 

 

 

 

ݔ4) (13 + ݔ4)(ݕ2 − (ݕ2 =  _______________ 

 

 

 

 

 

 

 

 

ݔ3) (14 − ݔ2)(2 + 5) =  _______________ 

 

 

 

 

 

 

 

 

 

 

 

 

 

ଶݎ) (15 − ݎ)(ଶݏ − (ݏ =  _______________ 

 

 

 

 

 

 

 

ݔ) (16 − 2(ݕ2
 = _______________ 

 

 

 

 

 

 

 

 

ଶݔ) (17 − ݕݔ + ݔ)(ଶݕ + (ݕ =  ______________ 

 

 

 

 

 

 

 

 

18) (ܽ + ܾ − ܿ)2 
= _______________ 
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Answer Key 

1) ܽଽ 

 ଻ݔ6 (2

 ଵଶݔ3 (3

4) (−3)ଽ 

 ଶସݕ (5

6) (2)ଵଶ 

7) ܽଶ଴ 

8) (3)ହܾହ 

9) 125ܿଷ 

ଶݔ4)3 (10 + ݔ5 − 6) 

11) 25ܽଶ − 4ܾଶ 

ଶݔ2 (12 + ݔ − 15 

ଶݔ16 (13 −  ଶݕ4

ଶݔ6 (14 + ݔ11 − 10 

ଷݎ (15 − ݏଶݎ − ଶݏݎ +  ଷݏ

ଶݔ (16 − ݕݔ4 +  ଶݕ4

ଷݔ (17 +  ଷݕ

18) ܽ ଶ + ܾଶ + ܿଶ + 2(ܾܽ + ܽܿ − ܾܿ) 

 

 

 

 


